Tudors Orienteering Quiz

	Control Point
	Question
	
	Tick for your answer
	Check your answer with the 1st Letter

	3
	Which flower was the emblem of the Tudors?
	Daffodil
	
	T

	
	
	Rose
	
	B

	
	
	Lilly
	
	K

	

	1
	Who did Henry Tudor defeat in battle so that he could become Henry 7th of England?
	Henry 6th
	
	U

	
	
	George 5th
	
	M

	
	
	Richard 3rd
	
	C

	

	15
	How many wives did Henry 8th have?
	3
	
	F

	
	
	5
	
	O

	
	
	6
	
	M

	

	6
	What did people in Tudor England use to sweeten their food?
	Honey
	
	F

	
	
	Sugar
	
	B

	
	
	Treacle
	
	I

	

	11
	Who was Elizabeth 1st’s father?
	Henry 7th
	
	H

	
	
	Edward 2nd
	
	O

	
	
	Henry 8th
	
	I

	

	9
	What was the average age that people lived to in Tudor England?
	35
	
	G

	
	
	70
	
	A

	
	
	55
	
	B

	

	2
	Which one of these was not a punishment for stealing food in Tudor England?
	Whipping
	
	G

	
	
	Death by hanging
	
	T

	
	
	Fine
	
	D

	

	13
	Which country sent a fleet of ships to invade England during the reign of Elizabeth 1st?
	Germany
	
	T

	
	
	France
	
	C

	
	
	Spain
	
	N





